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1. Balance the following equations: (20%, 4% for each) 

a. Mn02 + NaCI + H2S04~ MnS04+ H20 + Ch + Na2S04 

b. FeS04 + K2Cr207 + H2S04~ Fe2(S04)3+ Cr2(S04)3 + K2S04+ H20 

C. A12(S04)3 ·14 H20 + Ca(HC03h ~ AI(OH)3 + Ca S04+ H20 + C02 
d. HCIO ~ HCI03 + HCI 

e. H2C20 4 + KMn04+ H2S04~ C02 + MnS04+ K2S04 + H20 

2. Fe-&. Mn - -A~ J..A :iF 5Z-Wf..:t..12 ~ff1f.~ .±.:tl tp , t.ti ifiJ 'f <if 1t<~Ji Fe-&. Mn J..A $Z­
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3. ;It Ji*{~£1f. 20"C ~Jti-. 10 7i;.1it~ BODIO J.!, 760 mglL ' lt~ k 1A~ 0.211 

7i;.' ~-t4t~~fBOD (BODu ) -&,£7i;.BOD (BODs) ? (10%) 

5. ~~&~~~*~~~.~~~.,.~#~~~~~~••±~~~~ • .~.~~~~~~.'~.~~~~.~<ifff~~: 
(A) ~f;f,j (5%) 

(B) ~fL".tiJtJ-t (5%) 
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